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Topic:- General Knowledge

1) ISRO recently tested the indigenously developed Cryogenic Upper Stage (CUS) for the

use of which one of the following rockets? / mﬁmﬁﬁmﬁﬂﬁﬁﬁm
%%%mﬂﬂ?mwﬁﬁwﬁmmwrmﬁWMﬁGﬁwmmuﬁ&m

1. GSLV Mk-III
2. PSLV C38
3. INSAT-2E

4. IRS-1C

Correct Answer :-

« GSLV Mk-III

2) World Literacy Day is celebrated every year on which date? / uaﬁ$ a9 fasy AreRar

feaw for feAie & v SImar 82
1. 51 April 5 / 30

2. gth September / 8 IRIGLSRY

3. 24™M June / 24 97

4. 20" August / 20 SR

Correct Answer :-

. 8 September / 8 R

3) Where are the famous Dilwara Temples situated at? / m ﬁﬂaﬁ'ﬂ II'%T WT Ra %?
1. Maharashtra / 'JZI_ETI'\"I'Q



2. Madhya Pradesh / H&J |
3. Karnataka / HIicd
4. Rajasthan / XTSI RTH

Correct Answer :-

« Rajasthan / SR

4) How many medals did India win at US Open Karate Championship 2017? / 2017 Y@

O HRTE AR & URe A fFae ugs a2
1.8
2. 12
3.20

4. 16

Correct Answer :-

5) Which of the following is the highest gallantry award in India? / e A F9 9 yRa Ao

Hare dRd1 REPR 82

1. Shaurya Chakra / NIECED

2. Maha Vir Chakra / Il?ﬁﬁ? b
3. Kirti Chakra / BIfd dsh

4. Param Vir Chakra / URH dR I¢h

Correct Answer :-

« Param Vir Chakra / O3H 9 Ik

6) Which one of the following cities has India's first vertical garden? / frada e Udh
YER | HRA $T UGl SR IUH 32

1. Bangalore / SHTAR
2. Hyderabad / %aﬂala
3. Kochi / STl

4, Mumbai / Ha's‘

Correct Answer :-



« Bangalore / SR

7) Which one of the following Indian personalities is to host Hindi version of international

show "TED Talks"? / 7 & ¥ 11 & T YRda safdaqa 1 Siarf$ia = "TED Talks”
& fEdt Hep0r 1 Avari BT B?

1. Naseeruddin Shah / TGISe A UM
2. Amitabh Bachchan / 3T S=H
3. Amir Khan / TR &M

4. Shah Rukh Khan / RMMe¥ 9 W[+

Correct Answer :-

o Shah Rukh Khan / RlTg>¥d W+

8) Which one of the following south Indian languages is considered to be the oldest? /

fFrafeafad gféror urda utars # 3 &1 3t T J99 Ui |TeT 9 Sl g2
1. Konkani / i Ufl

2. Tamil / dfHQ

3. Telugu / AL

4. Malayalam / HYTH

Correct Answer :-

« Tamil / A&

9) Which one of the following sites is not located in Delhi? / FufafRada s Y,

feeeh # fRa =gt 82
1. Rajpath / XISIUY

2. Buland Darwaza / §eic GRATSIl

3. Qutub Minar / Wjﬂ:lﬂ

4. Red Fort / ATd faoam

Correct Answer :-

e Buland Darwaza / @?I_C{ G AV



The Mudumalai National Park is located in which one of the following states? /gg'n?rrs‘

Pt S U A A fru g T A Ra B2
1. Odisha / 3SR

2. Karnataka / e

3. Rajasthan / TSR

4, Tamil Nadu / ?‘T&I?‘Fﬂs

Correct Answer :-

e Tamil Nadu/(_‘llilf’l:l@

11) Who is the first Indian Army officer to be promoted to the five star rank of field
marshal? / BIeS HIRIA & Ui RIART P & UgAd B3 910 Ugd YRR A1 & SIS
DI 2

1. Rajendrasinhji Jadeja / NEFSRSISES
2. Arjan Singh / W%ﬁ

3. KM Cariappa / & TH ST

4. Sam Manekshaw / JH HIOIGIT

Correct Answer :-

e Sam Manekshaw / @12[ A0

12) Who is the newly appointed spokesperson of India's Ministry of External Affairs? / HIRd

& o= vamery & 9 Fgaa yaear s @2
1. Deepak Mittal / HECAEGK

2. Mridu Pawan Das / §g Ud- I

3. Vikas Swarup / fapr W=y

4. Gopal Baglay / TS dFTe

Correct Answer :-

« Gopal Baglay / HICINEINE

13) Who recently launched the mobile app named “Selfie with Daughter”? / §T¢ g ¥ feam

“Jeqpt fag Slex” AT HiaTsd TU ald o1 82
1. Raj Nath Singh / 1Y &g



2. Narendra Modi / '_'Q_S{ Iha
3. Pranab Mukherjee / UUId H}Eﬁﬁ
4. Hamid Ansari/ Bjﬂ_cf 3R

Correct Answer :-

 Pranab Mukherjee / YUId W

14) Who was the winner of the Australian Open Super Series badminton tournament in

20172 /2017 ¥ SRR iu= gur We dsfiie gatde o1 fawar o1 12
1. Srikanth Kidambi / §iepid fodl

2. Nanda Gopal / a1 M

3. Sai Praneeth / Flé oot

4. Pullella Gopichand / ﬂa(_‘ﬂ US|

Correct Answer :-

« Srikanth Kidambi / fpid fhcst

15) Who held the office of the Vice President of India for two consecutive terms? / HIRd ®

SIRIPUT Ug TR AR &1 3raf¥ 9@ I 91 62
1. Shankar Dayal Sharma / R[HR GaTd Rl

2. Rajendra Prasad / I U9TG

3. Zail Singh / 9 g

4. S. Radhakrishnan / UH. XYW

Correct Answer :-

« S. Radhakrishnan / UH. X[YTH T

16) Who built the Khajuraho temples? / T9RTe! HieR1 &1 frafor fora=t wwarn?
1. Nandas / Fgl

2. The Mauryas / arf
3. The Chandellas / Ied

4. The Kanvas / pTdl

Correct Answer :-



e The Chandellas / %léﬂ

Topic:- General Hindi

1) «“HaR DI Wiord Y S MR IR 1> A S 97 PR 82
1. ffa=rAfad SrcidpR

2. Y ADBR

3. U 3(APR

4. Yo AAPR

Correct Answer :-

. Y ABR

2) “YUITH B 9> B Ped & |
1. TGP

2. U0
3. "HA

4. YUy

Correct Answer :-

3) “faeTera” ® wga Ift &1 A9 FarsU|
1. TR Y

2. &I Y

3. ol TfY

4. 3rTTie Y

Correct Answer :-

- d Y




2. TS 61 g
3. 30 ARG g
4. T 1 GA

Correct Answer :-

. AT BTG

5) “qRRT” § P AT Tead TTeg 22
1. 3RT

2.
3. W

4. 371

Correct Answer :-

7) HTGQTH BT AT B A1 §2
1. g T greT 78T T

2. g S|

3. g alSd gl

4. T Y DI T

Correct Answer :-

. g 9 SreT T8l T



8) <31 FPTel I Td, &I0T UR I B ST SITd I° H B ATIH 32
1. IR

2. YD 9

3. 3[gHd X8

4. I

Correct Answer :-

. AIHE

9) qg RIT STgT AT HHT T gl |
1. feig

2. 9

3. g

4. T

Correct Answer :-

Correct Answer :-



13) 38 @ B9 91 Py gao areg 22
1. qHPHE?

2. JAPGIAW® B2

3. 1Y ! SI3 2

4. 9 T8 SIS 1

Correct Answer :-

S CE RGN

14) “&R BT W GPT ST HgTad BT Y § |
1. TR b1 NG fadt 1 A1 g™ are|

2. IR &1 Wl depl fTRTT

3. TR & U U BT BT RAT

4. 3O B J g |

Correct Answer :-

. 3O Be T gIiA|

Topic:- General English

1) Choose appropriate articles for the given sentence:

As result of meeting and subsequent frank talk, they were able to part as friends.



4. an, the

Correct Answer :-
e 3, the

2) Choose the appropriate prepositions for the given sentence:

There was an overpoweringsmell ___ chlorine ___ the indoor pool.
1. through, across

2. of,in

3. with, from

4. in, through

Correct Answer :-

3) Choose the option that correctly sequences the following phrases:

. they manage to continue
. although

. are divorced

. Janet's parents

. as good friends

v B W IN =

1. 23451
2. 54312
3.12435

4. 24315

Correct Answer :-

e 24315

4) Choose the correct form of phrasal verb for the given sentence:

How is Mohan in his new job? Is he enjoying it?

1. going on



2. getting on

3. carrying on

4. living on
Correct Answer :-
e getting on

5) Choose the correct form of linker for the given sentence:

He never returned to his constituency he won the elections.
1. unless

2. when

3. because

4, after

Correct Answer :-

6) Choose the most suitable determiner for the given sentence:

Doyouwant ____ glass of milk?
1. many

2. another

3. more

4, each

Correct Answer :-

e another

7) Choose the correct sentence from the sentences given below:
1. The man to whom | was speaking is the manager of mine.

2. The man to who | was speaking is the manager.

3. The man is the manager to whom | was speaking.

4. The man whom | was speaking to is the manager.

Correct Answer :-

e The man whom | was speaking to is the manager.



8) Choose the right tag:

Itwon'train, _____ ?
l.isit

2.isn'tit

3. won't it

4. will it

Correct Answer :-
o willit

9) Complete the sentence choosing the right option:

You can achieve better results
1. unless you work hard.

2. lest you should work hard.
3. if you work hard.

4. if you do not work hard.

Correct Answer :-
 if you work hard.

10) Complete the sentence choosing the right form of Prefix:

Please remain seated until we announce when you can plane.
1. de

2.un

3. dis

4. em

Correct Answer :-

e de

11) Choose the correct form of tense for the given sentence

Don't get that ink stain on your shirt, for it even after washing

1. isn't leaving



2. won't leave
3. won't be left

4, hasn't left

Correct Answer :-

e won't leave

12) Choose the word that is opposite in meaning to the word highlighted in the following
sentence:

He spoke affably to the reporters.
1. rudely
2. politely
3. hastily

4. inaudibly

Correct Answer :-

e rudely

13) Choose the word that is closest in meaning to the word highlighted in the following
sentence:

The youngsters will pit their skills for a week against the European mega football club FC
Barcelona.

1. hide
2. falter
3. play off

4, tolerate

Correct Answer :-

14) Spot the error in the given sentence:

It is the dream of every mountaineers to climb the world's highest peak.
1. to climb

2. of every mountaineers

3. It is the dream

4. the world's highest peak.



Correct Answer :-

« of every mountaineers

Topic:- General Mathematics

1)

Thevalueof X' in 752+ 2= V790 is / 72+ 7= Y71 & “X" &l AT B -
1.3
2.9
3.7
4,5

Correct Answer :-

2)

Ifthe curved surface area of a right circular cylinder of height Scm is 967 cm?. then its radius is

| A 8 A I U o g IecT doreT H T TG ST 967 AHE B, A sEdh
e &

1. 3cm/ 3 TH

2. 4cm / 4 Y

3.2cm /2 AT

4. 6cm / 6 JH!

Correct Answer :-

. 6cm/6@1ﬁ



Day: Mon | Tue | Wed | Thu | Fri | Sat | Sun

Rainfall{in
mm) 3.1

]
Lh
Lid
]
—
]

49 24

Lh
Lh

0.2

The above table gives the rainfall (in mm) in a citv on 7 davs of a certain week. The range of the

above datais [/

feet: WA (A | g9 | qE | Ay | ol | M@

pa }

ast (@A : | 37 [ 55 | 02 | 253 | 212 | 49 | 24

IWIFA dlfela U fAfTEd aeare & 7 feet & aRier wex A g3 awt & sk (faeh
) &Y 81 39 SeT T W b -

1.22.9
2.20.5
3.25.1

4,21

Correct Answer :-

« 25.1

4)
One of the factors of the expression x* + V2x-24is /| &0 2 +42x-24 & H;I'U'IFFEET H

¥ UH§-

(x-v2)
1.

(x-3v2)
2.

(x-2v2)
3.

x + "E
4 (x++2)

Correct Answer :-

(x-3v2)



5)
In a parallelogram ABCD if £A =2 /B, then £C = / U WHIR =gsisl ABCD #, 37 2A

=2,/Bg drzC=

1. 80°
2. 959
3.100°
4. 759

Correct Answer :-

. 800

Simplify [{(D) 14 + £ / & B 1 (D) R+ 2

(3*

(D¢
LG

Correct Answer :-

7) In an election, a candidate got 75% of the total valid votes, 12% of the total votes were
declared invalid. If the total number of votes is 800000, then the number of valid votes polled
in favour of the candidate is ./ ¥h gdld ﬁ:, U G'I:mm G Pd AY el BT 75%
T 54T, T alel &1 12% rae v forar | afe ae @ oo T=aT 800000 B, @
SufigaR & var & frdt Gy 9Yel 9t wiem 2l

1. 710000

2. 528000



3. 676000
4. 540000

Correct Answer :-

e 528000

8) Jaya took a loan of 25,000 rupees at the rate of 10% from a bank and bought a second-
hand scooter. After two years she cleared her loan. How much money she would have paid in

all? / STT = T §B | 10% DI &3 A 25,000 FYY BT BT forT TS TH SUANT fHar gai
e Wilel | G 91 916, 39+ 391 B gH1 f&aT| 39 $d foa=1 Yiar fbar g

1. Rs.30,000 / 30,000 U
2. Rs.35,000 / 35,000 =0
3. Rs.5,000 / 5,000 =0

4. Rs.25500 / 25,500 =0

Correct Answer :-

« Rs.30,000 / 30,000 0T

9) 'x'is 15% of 'y' and 'y' is 12% of 'z'. If x = 945, then 'z' =/ “y” DI 15% “x” %T‘RIT “z” Pl

12% “y» 81 afg x =945 8, dt “z” =
1. 39860
2. 48600
3. 46430

4. 52500

Correct Answer :-

« 52500

10) A number is as much greater than 22 as it is less than 70. The number is ./

TP T 22 A R 3fire 8, 70 @ Ia1 € 4 ¥ 98 TEM g
1. 66
2. 54
3. 24

4. 46



Correct Answer :-

. 46

11) The outer and the inner diameters of a hollow cylindrical pipe of length 35¢cm are 12¢cm
and 10cm respectively. The volume of the metal used in making the pipe is ./ 35 94

|aTS 917 U WA dHTPR ISy & arg) vd Wadt aara wAn: 12 99 8ii 10 9 €1
UISY S § WY YT BT Mg 6l

1. 1845cm3 / 1845 THB
2. 1430cm> / 143 IH1

3. 1625cm> / 1625 IH1
4.1210cm? / 1210 THP3

Correct Answer :-

. 1210cm3/ 1210 TH3

12) The arithmetic mean of 12, 2,2 32, 42, and 5%is ./1%,2,2 3%, 42 U 5% BT JHIAR
L3153} gl

1. 11
2. 10
3.5

4. 10.5

Correct Answer :-

13) What must be added to 9x2 - 30x + 22 to make it a whole square? / T Tﬁa‘n‘ CEIEKd

T 9x2 - 30x + 22 H fhd=IT SiTSAT AP B2
1.3
2.6
3.2

4.14

Correct Answer :-



14) Ganesh and Bhima can complete a work in 6 days. If Ganesh alone can finish it in 10
days, in how many days Bhima can complete the work? / TMOIRT Eﬁ W6 ﬁ:ﬁ H Udh 1t
T HR JHd 31 afe 0= v gt 10 oY F 59 S0 &1 U H= TP ¢, Ot 39 $H
o1 ot fra fel o 1 e gwar 32

1. 18
2. 14
3.12

4. 15

Correct Answer :-

Topic:- General Logical Ability

1) A gets Rs. 33 when a sum of money was distributed among A, B, and C in the ratio of
3:2:5. What will be the sum of money? / A &1 33 Fﬁlﬁ, Sd PO ?FRTQTA, B, AMRCH3:
2 : 5% 3uTa ¥ faafea &1 75| o LRIy T g

1. 111
2. 110
3. 121
4. 99

Correct Answer :-

« 110

2) A shirt costs Rs. 350. If the cost is increased by 10%, then the new cost will be: / T

FHIW P AT 350 = 81 TfS TR 10% TP g7 <t 5, df 8 arTd ghft:
1.Rs. 365 /365 &
2. Rs. 385 /385 %=
3.Rs. 370/370 =

4.Rs. 360 /360 &

Correct Answer :-



« Rs.385/385%

3) Find the distance covered by a train moving at a speed of 90 kmph in 10 mins. / 90 fo

Ui gUe B T W AT R Ig1 IAST gRT 10 FieTe # a9 31 18 g3 e
1.15m/ 154

2.900 m /900 H

3. 900 km / 900 fobai

4,15 km / 15 Tpdt

Correct Answer :-

. 15km/ 15 fopuil

4) 42 is what percent of 210? / 42, 210 PT foha= ufa=ra 82
1.20%

2. 15%

3.22%

4.25%

Correct Answer :-

e 20%

5) Kamlesh remembers that his brother Suraj's birthday falls after 29t October, but before

5'h November, while Sheetal remembers that Suraj's birthday falls before 315t October, but

after 20 October. On which date does Suraj's birthday fall? / FUAR DI ATG % & 3u®

TS YR BT T 29 AR P 91, T 5 IR | UgA 3T §, 9Ia(P iad &i a1
8 I T3 &1 9afeA 31 Sragar I Ugd, W 20 R & 15 3T 8 | I BT ST
fpg famie Y g1 82

1. 29t October / 29 3fageR

2. 30" October / 30 3AEER

3. None of the above / dblfick'l o3y Oh\l'{: Tl
4. 315 October / 31 AgaR

Correct Answer :-

« 30" October / 30 ISR



6) Which letter should be 7th to the right of the 12th letter from left, if first half of the

alpl.labet series is reveljsed? /Tlﬁ HE&R WFIT DT Ygdl HIT Icpfid T Srar % GIGIRE:]
129 31eR ¥ g & 791 1em B A AR

1.V
2.T
3.P

4. S

Correct Answer :-

7) Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / Fr1 f&0 T IR val & A &9 A1 T 1 33 70 ud & UheH IHH A1 22

Sp. Z o.0. Janki,
ul. Falencka 1B,
05-090 Raszyn,
Poland

i. Sp. Z o.0. Janki,
ul. Falencka 1B,
05-090 Raszyn,
Poland

ii. Sp. Z o.0. Janki,
ul. Falencka 1B,
05-090 Razzyn,
Poland

iii. Sp. Z o.0. Janki,
ul. Falencka 1B,
05-090 Raszyn,
Poland

iv. Sp. Z o.0. Janki,
ul. Falencka 1B,
05-090 Raszyn,
Poland

1. 111

2.1v



3.11
4.1
Correct Answer :-
o i

8) If PARTICLE is coded RCTVKENG, then how is SCIENCE coded? / ’qﬁ PARTICLE ﬁ

RCTVKENG q ®If&d forar a1 8, @Y SCIENCE &1 & Sifsd frar smam?
1. TBJUOMF

2. TDJFODF

3. UEKGPEG

4. QBSUDMF

Correct Answer :-

- UEKGPEG

9) The series given below contains a sequence of numbers. Identify the incorrect

combination./ﬁﬁﬁ%ﬁ@ﬂﬁmmﬁl Ted YIS Ugdar=e|

5,6,7,8,10,11, 13,15, 19
1. 19

2.7

3. 15

4. 13

Correct Answer :-

10) The average age of the 27 girls in a class is 13. The teacher is 41 years old. What is the
average age including the teacher? / Udh HET H 27 ﬂ@'ﬁ)—lﬂ' 31 3 a 3 13 HEEL I ER
D1 3mg 41 99 B | SrATiHT ) ey sia omg Fam gt

1.27
2. 14
3.20

4.34



Correct Answer :-

. 14

11) Tap A fills a tank in five hours, Tap B fills the same tank in fifteen hours, and Tap C
empties the tank in ten hours. When all the three taps are opened together, the tank will be

filled up within: / &l A, U ¢ B! U U] A HIdT €, 71 B I <P &1 Ugg guel &
WRAT 8, 3 a0 ¢, I TP +) 39 gl A Wrell BT 8 1 59 diFl &b T H1Y @i ST
g, 1 ¢P 3+ gl § WX SR

1. 10 hr/ 10 90

2.6hr/6 g0

3.3 hr/3 9U0C

4.5hr/5 90

Correct Answer :-

« 6hr/6 HUC

12) Evaluate 555 x 444. / 555 x 444 &1 {9 A&1feQ]
1. 246520

2. 244620

3. 264420

4. 246420

Correct Answer :-

« 246420

13) In a certain code language, dra sonc fert means win my heart; brip seda sonc means
famous heart surgeon. Which is the word for heart in that code language? / o @9 wis

HTHT ﬁ:, dra sonc fert 1 Hddd % win my heart; brip seda sonc dT Hddd % famous heart
surgeon | I BIS U | heart %ﬁrqﬁ'—rmw%"

1. sonc
2. fert
3. brip

4. dra

Correct Answer :-



14) A number is such that the product of its digit is 12. When 36 is added to the number, the
digits get reversed. What is the number? / Th I 59 UPR % & I9F 3wl BT qUwd
12 81 59 H&AT A 36 SNST 9141 8, Y 3 Sgeh i 31 ST § | &1 1 82

1. 34
2.43
3.62

4,26

Correct Answer :-

. 26

Topic:- General Science

1) Identify the organism which ingests food without the mouth? / 39 Sig &t 'lTEﬁITﬁI'Q', <l

fomT g & wieH &1 fArrerar 2

1. Amoeba only / R anftar

2. Cow only / s

3. Both star fish and amoeba / ARTHIM 3R S(HiaT GHI
4. Starfish only / s arT=

Correct Answer :-

« Amoeba only / s aftar

2) Leaves are reduced to spines in deserts. This adaptation helps desert plants

./ afrgi ¥RAT o BT a1 WAl 1 98 e ad IR | Ut 3
Heg PRl gl

1. to increase rate of photosynthesis / UhTR[ T2V B &R Dl EIE'I%[ Tl

2. to increase the size of the plant / 1Y & 3ATHR B aaﬁ Tl
3. to protect from the predators / RYfEE A Fa= A |
4. to reduce water loss / T &1 HHI Bl HH B H|

Correct Answer :-

« to reduce water loss / UT-} b1 BHI Bl HH B H|



3) Cottony white or greenish thread like substance found on old bread is due to attack by

which of the following organism? / gﬂ'—ﬁwﬂ?ﬁ (a?f) TR YT S aTdT SURIt 44 a1
givd 4 o e, fra ofial # 9 feae g1 g9et & RO BT 82

1. Virus only / &Had ﬁ'qTq

2. Fungi only / &Had HAD

3. Bacteria only / hHad GﬂTJITf[L

4. Both bacteria and virus / \_rﬂaTQI 3R ﬁ'qTUl GHI

Correct Answer :-
» Fungi only / Had HaH
4) Which is the INCORRECT statement given below?

Mercury is used in thermometers because J AR ﬁ"’{ 1Y HYA A I B 91 TAd
21 URe, Y A Sy frarsmar g, ®iife |

1. it does not expand on heating / g T H R yaTid e gId

2. it does not stick to the sides of the glass tube / g i AfeIRT & fFIRI IR ﬁﬁm %

3. it is easily visible as it is a shiny metal / T8 3T § f&aTs a1 § Fiifeh I IHBER U1 &
4, it expands easily with rise in temperature / g dTYHIA o Q'@ & IIY AT I U1 Eﬁ?ﬂ %

Correct Answer :-

« it does not expand on heating / g T B R yarid Tel grarl

5) Which of the following is NOT an adaptation found in the animal mentioned? / fada

DI T ST STHaR | YT S aTel g gl 82

1. Red-eyed frog stick pads on feet/ ¢l 3G gt Hewh & W R e Ug
2. Toucan sharp, long beak / W Gl Tﬂﬂ?ﬂ, GEICIE!

3. Monkey’s long tail / §GX CARE]] 11@'

4. Monkey’s sharp claw / §G & W gol

Correct Answer :-

« Monkey’s sharp claw / §&3 & W LSl



The passive movement of substances from a region of high concentration to a region of lower
concentration is called ./ 3 HIgT & 833[ 3 ﬁl'l;'l' Higor & aﬁ s | tIETQﬁ G|
fferg nfd weard @ |

1. displacement / fa=Io
2. dialysis / 3dTg

3. diffusion / fa&RTT

4. osmosis / YXTHRT]

Correct Answer :-

. diffusion / foOROr

7) A special kind of carbohydrate which can only be digested by ruminants is ./ Th

W fe &1 Bralergse, S ad AW gRT utfra fbar s asar g, 21

1. sucrose /W
2. glucose /@TYT
3. fructose / Thac ol

4. cellulose / A
Correct Answer :-

« cellulose /@ﬁ?ﬁﬂ

8) The season in which frogs reproduce is ./dg HH foraw Hed usT— &d
g _ ®

1. autumn / Udls
2. summer / YTSH

3. winter / ¥fTd
4. monsoon / HIFY

Correct Answer :-

« monsoon / HITYA

9) The best time for weeding is ./ =1 (@ifEw) & fore ga s 9w
gaTg |

1. before the weeds produce flowers and seeds / UTHUTd & q9 ud dI IATfed B I Ugd




2. when the weeds have produced flowers and seeds / ST& UTIUTd Y& Ud §iol T FUTG DR Ad

d

3. when the weeds have multiplied to the maximum / SId YTHUTd Wﬁﬁ%
4. as soon as weeds begin to appear / oy B g urd Ié@lé e

Correct Answer :-

« before the weeds produce flowers and seeds / YTUId & gy Q_Q' CI| \'S(‘vlli?id BT H6Q71

10) Tin cans, used for storing food, are made by electroplating tin onto iron because

. 1 IS Hferd 3 & e vged g arel feq & fesaf P alg W
fea & fagaq-au= gRT o= ST §, FAfd

1. it makes the vessel lighter / uﬁraﬁwmﬁ%%m
2. it makes the vessel cheap /Waﬁmﬁqﬁ%ﬁﬂl

3. tin gives a shiny appearance / T T TH®HeR ¥4 ol %I

4. tin is less reactive than iron /?ﬁ%aﬁmﬁﬁqw Wlmm%l

Correct Answer :-

« tinis less reactive than iron /rﬂ%aﬁwﬁﬁqm C’riﬁ-lwmgl

11) To produce electricity on a small scale, electric generators use / B THA W)

I P19 F9d B Fw. Agaq IRer | @I SmimaRadl
1. diesel / Sord

2. fuel oil / SUFT O

3. petrol / UCId

4. kerosene / THEI HT A

Correct Answer :-

o diesel / @ﬁ\_?fa

12) The part of ship that always remains under water . / Glglel &I dg

e it g8=m o & T Tgar g, |
1. does not rust because it is salt water / WT:T%&WT%, il od @Tﬂ@?ﬂ %I

2. does not rust because it is cold water / ST '_‘|€f Uhsdl %, RN aed Eﬁ?ﬂ %l
3. rusts faster because it is salt water / ST ool & b odl %, Fifd oTd @RI Bl % I




4. rusts faster because it is cold water / ST doit 9 b sdl %, Hifd s gl |

Correct Answer :-

. rusts faster because it is salt water / ST qoit T UhSdl g, difd oI WRI 8T 5 |

13) When the amplitude of vibration is large, sound produced is ./ ST SO BT

3T 93T §ielT 8, Y el Jeure, TR

1. loud / Udd

2. feeble / &T0T

3. shrill / T1&0T

4. no relation between amplitude and sound / 3{TITH GﬁT wﬁ%aﬂﬂaﬁs‘wuqﬁ

Correct Answer :-

e loud /YUdd

14) A piece of transparent material which has one or two spherical surfaces is called

. /T 1 & MATHR Tdg! aTaT URERT ygrd &1 Tdh ghel FeaEar gl
1. mirror/a'chT
2. concave mirror / (A GUUT

3. convex mirror / 3T E‘TfUT
4. lens / @m

Correct Answer :-

. lens/aﬂ

Topic:- General Computer

1) WAN stands for: / S&JUUT &1 IUf =1 §:
1. Wireless Area Network / Wqﬁfmﬁ?aé?
2. Wap Area Network / g QﬁTIT W

3. Wide Area Network / a@mm

4. Wide Array Net / dISS ﬂi’ e

Correct Answer :-

e Wide Area Network / dIgS QIQZII Jcddh



2) To convert a hyperlink e-mail address to regular text, right-click the e-mail address and then click

______on the shortcut menu./@W@ﬁ@ﬁW%ﬁﬁWﬁﬁ%ﬁﬁ,
3HA To¥ WR I3e fFae 3 o fR Id@we Ay W e B

1. Edit Hyperlink / Qiga 3 scmsia;

2. Select Hyperlink/@ladt Gliqii-eid’)

3. Convert Hyperlink / d¢ gI3WRIcid

4. Remove Hyperlink / ﬁjff RECRNED
Correct Answer :-

« Remove Hyperlink / ﬁﬂﬁ JECNEZ

3) An area of a computer that temporarily holds data waiting to be processed is

Wwaga%raﬁ%mﬁasﬁasmwm@mﬁmwﬁm%
Pedidiel

1. File / WIgd

2. CPU / Hidlg.
3. Storage /R

4. Memory / TRt

Correct Answer :-

e Memory / Rt

4) CD-ROM stands for: / @ﬂ%"fi‘qm Tﬁ??q%

1. Compactable Disk Read One Memory / HIaesd fS%b 3 a7 AHRY

2. Compactable Read Only Memory/ﬂﬁﬁﬂ%@ﬁﬂg 3ffTelt AR
3. Compact Disk Read Only Memory/ﬁﬁﬂf%@ﬁ_é 3Tl AR
4. Compact Data Read Only Memory/?lﬁl:aﬁl?:r STeT S 3ot AR

Correct Answer :-

e Compact Disk Read Only Memory/ﬁﬁﬂf%@ﬁ_é 3Tl AR

5) What does Ctrl +Shift ++ key effect? / Ctrl +Shift ++ B AT Poit gaM | fHT W= UUTE USar

??
1. Uppercase / IHRHY
2. Superscript / W



3. Subscript / W
4. Lowercase / AI3R®Y

Correct Answer :-

 Superscript / W

6) What is the default font used in MS-Word 2007 document? / THTH T8 2007 ﬁﬂ*{ﬂf H fpa
fSwiee wive o1 wahT forar wimar 32

1. Calibri / BfeTs

2. Arial / Qﬁ_qa

3. Preeti / Widl

4. Times New Roman / CIgH] qﬂm

Correct Answer :-

« Calibri / Pplersit

7) The cell reference for a range of cells that starts in cell B1 and goes over to column G1 and down

to row 10 is /ﬁwaﬂwiﬁ%mﬁﬁﬁi‘mvﬁﬁamﬁwwm
G1 TP ST} € a1 1 3 (ufeT) 10 9 Sl 81

1. B1;G10
2. G1-G10
3. B1.G10

4. B1:G10

Correct Answer :-
e B1:GI10

8) The quickest way to create a MS-PowerPoint presentation is to use the ./ THYY-

UTR@TEC USRI T &1 qad ddf adie, BT SEHTA ST |
1. Word for windows templates / 3 cHde & ﬁm gs

2. Auto content wizard / 3¢l dhec ﬁﬁﬂé

3. Auto creation wizard / 3fic| fh U= faos

4. Presentation wizard / USI¢R faoie

Correct Answer :-

e Auto content wizard / 3ffer e Ia\_ﬂ Ié



9) What is the easiest way to place same graphic in same place in all slides? /g W'Ig_éﬁﬁ Th 'Eﬁ

VI TR AT RITUT S BT T4 SR a1 1 32

1. Place graphic in Slide Master / TlIgS HIXCX o 1t h T

2. Place graphic in Notes Master / :nE\H AReR § UMfthdh @ |

3. Place graphic manually in all slide / Ut &) Tt TS & Aga3relt TG

4. Place graphic in Handout Master / %.33‘”66 ORex o Hli-chcb G|

Correct Answer :-

 Place graphic in Slide Master / ¥gS HRCI T Tfthds G|

10) Which of the following is NOT an option in the spelling dialog box? / = 9 9 919 a1 faweu
Wi sTrarT sieT | 81 giar 82

1. Edit/ Tf&c
2. Ignore/%‘;“?

3. Ignore all / 317—1 3 3T

4. Change / ES|

Correct Answer :-

« Edit/ QI%E

11) Which of the following is NOT a feature of MS-PowerPoint? / fadAd s THUY-
UTaRWTSC T AT 81 82

1. Printing the speaker’s notes along with slide images / ¥l S @Gﬁ gy Eﬁﬂ e fiie s
2. Printing transparencies / o mﬁm

3. Linking a slide transition with a laser pointer / W@I\Tﬂ Wrgel >y NNIESS] ,C\”-\\YI-‘QH P o BT

4. Drawing with a pen / TH U Y SIS HAT

Correct Answer :-

» Linking a slide transition with a laser pointer / W@I\Tﬂ Wrgex >y NNIESS] ,C\”-\\YI-‘QH P! o BT

12) Which of the following is NOT the Section Break Option? / A9 & & P19 9T A9 & T
T8 82

1. Next Page / ARE US

2. Even Page / d- |

3. Previous Page / Uifao 0o



4. Odd Page / 3 U

Correct Answer :-

« Previous Page / Wifdad US

13) What term refers to a specific set of values saved with the workbook? / Cack:| I aﬁﬂ?

o 99 fHd gu vl & fafdree Ae o1 welfa srars?
1. Range/i'ﬁf
2. Trend line/é;%ra'lgq

3. What-if analysis / 8Tc-3Wh THTAIRN
4. Scenario / TR

Correct Answer :-

e Scenario / ﬁlﬁﬁ’cﬁ

14) When you link data maintained in MS-Excel workbook to a MS-Word document, the word

document . | 19 3Ty THTH- W%%mmaﬁwaﬁmﬂﬁzﬁ
mmﬁia’ra—éﬁwﬁz |

1. contains a copy of the actual data / ¥ Irdfde® STeT ot ufafery Eﬂ?‘ﬁ %

2. contains a reference to the original source application / ¥ arafds Fﬁﬁ@@ﬂaﬂ’ﬂ Eal Wﬁﬁ%ﬂ aﬂT %
3. must contain a hyperlink / H BISUR NG "@:ﬂ ElT%(f

4. cannot be edited / UfST 81 fohdT ST Hehdll g

Correct Answer :-

 contains a reference to the original source application / ¥ grdfd® @ﬁm 3l “Ei?{?-f E||%(‘I Eﬁ?ﬂ

Topic:- Mechanical Engineering

1)
The amount of taper is 1:20 length of work piece will be D = 80mm d=70mm / ¢OXhT T 1:20 B,

FRES T oFaTs AT 81317 IfE D =80 THTUH, d=70 THUH)|

1. 10mm



2. 100mm
3. 200mm

4, 20mm

Correct Answer :-
e 200mm

2) de 2y : gq
If £(—) <0 it implies tat .ﬂﬂﬁz(?} <0 A SHFTHAE

1. data is insufficient / STCI N %I

2. cycle is impossible / b HHT %I

3. cycle is possible and reversible / Tsh HHT 3R Gc_w'TIUﬂH%I

4. cycle is possible and irreversible / Tgh GHT 3R Hﬂ@ﬂnﬂﬁ %I

Correct Answer :-

« cycle is possible and irreversible / Th HHd 3R Giﬂc_sﬂ:lﬂﬂﬂ %I

3) For the four bar mechanism shown in figure, the fixed mstantaneous centres are NACEE:]

ZeS s IR R fFanfaf & fore, Fer areTiOie heal i aem &l

Cc
uﬂ*?'T
D >

O b
";),.uu..r FFTETS

A Link1 B

1. 134 AND 123 / 134 3R 123
2.112 AND 124 / 112 3R 124
3. 114 AND 134 / 114 3R 134

4.114 AND 112/ 114 3R 112

Correct Answer :-

« 114 AND 112/114 3R 112



If mass is entering and leaving an open system then the process is said to be ./ afe s

A Pt § TR R 1 3R SA SIS W dr su ufpar o) I IG I
1. non flow process / TR UdTg Ufehar

2. non adiabatic process / TR fRRISH Ufghar

3. flow process / WdTg Ufehd

4. adiabatic process / FRRTSH Hfehar

Correct Answer :-

 flow process / Ydlg uferar

5) A pressure measurement instrument is calibrated between 10 bar and 250 bar the scale span of

the instrument is . / ST HTY G BT SRTH 10 IR 3R 250 IR & dI gidT 8, T DI

YurT fagfa gl

1. 240 bar / 240 I}
2.270 bar /270 dR
3. 250 bar / 250 dR

4, 260 bar / 260 dIR

Correct Answer :-
e 240 bar /240 dR

6) When system is at zero absolute temperature then the entropy of system ./ ECAREQR

A fRIg T R e s A e eraRem |
1. decreases / 9T §

2. cannot be judged / 31T T81 oI YbdT §

3. increases / AT §

4. becomes zero /Q]\:qfupf\_rl'lﬁ'[%

Correct Answer :-
» becomes zero /Q]?IE)[WIT‘H%

7) 1If the heat is flowing from cooler to hotter body it implies that ./ qﬁ GO CHT, 3% ﬁ

T feTa ® yaTe # ¥l @ O sueT aread g f |
1. COP=w0
2. COP=0

3. COP<x



4. COP<0

Correct Answer :-

e COP<w

8) Which among the following is pendulum type governor? /

TS (Ugad o5y TdR) §2

1. Proell governor / AT SAfHATAS (U TR)
2. Porter governor / HIR® AfUTFF (UIER TIR)
3. Watt governor / a1 3(fHfAEEe (@fe TdR)

4. Hartnell governor / ‘s’réﬁ?{ YIS (E'féﬁﬂ m

Correct Answer :-

o Watt governor / dIC YD (fiv'l?:r Tla.:R)

9) Which of the following statement is not true about valve? / dicd & R A R A QA P I HYF

T 81 82
1. Exhaust valve is made of two different of materials / ﬁafa?:ﬁ dled, Eﬁ fafyrs UE{TUT@ ﬁ'&fﬂ%l

2. Exhaust valve diameter is bigger than inlet valve diameter / fafae areg ATy, 3T dled T I
3 ISTR |

3. Inlet valve diameter is bigger than exhaust valve diameter / 3Ty ared oAy, fafa® g T ¥
3F ST 5

4. Valves used in 4-stroke diesel engine are called poppet valves / qTed Sfl 4-@$ SSNESSE] Ugad gl

€ Ufde dlca e B

Correct Answer :-

» Exhaust valve diameter is bigger than inlet valve diameter / fafae areg ATy, 3T dled I I

3w ISR

10) Which of the clutch arrangement is used in synchromesh gearbox? / wmﬁmﬁﬁﬁ
| P 91 70 fa=urg uga g 82

1. Centrifugal clutch / TS AT T
2. Single plate clutch /WWW
3. Dog clutch / SN

4, Fluid clutch / d3¥d &Id

Correct Answer :-

» Dog clutch / RGN



11) Which one of the following is independent suspension system? / IBEINICOR R TP WA
forete yomedt 32

1. Panhard rod / ﬁﬂ%’l@f@‘s’

2. Leaf spring / % S

3. Trailing link system / 3T $acl P
4. Mumford link / TADTS §@aT

Correct Answer :-

« Trailing link system / 3{J0T 4l PG

12) Specific heat is defined in terms of ./ ﬁfQTE G OHI, *» wﬁﬁwﬁnrrf&a
PITE B

1. rate of volume change / 3TId- tlﬁ_d?‘f:[ Pl @
2. rate of internal energy change / JHTaR® Sl IRTdT BT &R

3. rate of heat transfer / 3 SHT RITAIIR U] PR

4, rate of temperature rise / dTJHIT q@ PR

Correct Answer :-

« rate of temperature rise / dTUHIT Q'@ PR

13) Stiffness of spring is given by . am'—ﬁaﬂm 1Rl Eﬂﬁ'ﬁ‘ﬁ%l
1. load/stress / HR/vfdedl

2. load/deflection / “—n?/ﬁeﬂw

3. load/length / 'J-I'R/T“IWFS:
4. load/diameter / HR/UTH

Correct Answer :-

« load/deflection / HR/fI&rToT

14) Combustion in Diesel enginesis ./ Eﬂ\_rlﬁ EVF-T - | 0 % |
1. homogeneous only / FHad U

2. none of the above / SRIGd H A qﬂéﬂ'sﬁ

3. laminar only / Fad Ucard

4. heterogeneous only / FHad fauHif




Correct Answer :-

« heterogeneous only / had FAGHIT

15) errors occur due to carelessness of operator. / UdT¢Ih (G-I"I"m &1 ATURATG! &

PrRU__ FRER
1. Random / DIGEEE

2. Observational / ﬁ&‘fUT

3. Environmental / UqﬁTUﬁ
4. Instrumental / JUSHIIT

Correct Answer :-
e Observational / 1j&‘l'UT

16) thread is used in motor car practice. / Hiey R arT H DS Ugad ﬁﬁ %'I
1. Square /an @HVTER)

2. Rectangular / STAATDHR (RFCIAR)

3.v/dl
4. Metric /mﬁ(ﬁ'@\aﬂ

Correct Answer :-

« Metric / HIc3t (ﬁ'@\@

17) are lubricated by splash system./ , 3P YUITell & gRI @ﬁ%l
1. Rocker arms /WH\T‘H (TTW 3‘|'|T\Ef)

2. Tappet / Tue

3. Pushrod / H-‘IR‘T@

4. Timing gears / JHHTI TR (E'I_ijﬁl"ﬂ ﬁzﬁ)

Correct Answer :-

o Tappet/ e

18) is the bottom surface joining the two sides of the thread. / AT H g RRI A \_rﬁgﬁ' qret
RELIKGH g

1. Root / ¥&C
2. Addendum / I



3. Dedendum / SoTsH
4, Crest / BT

Correct Answer :-

e Root/¥&C

19) is reverse of diametral pitch. / e U &1 gcsh H %'

1. Module / Ifd=U® (ATedd)

2. Tolerance / H%w (E'Tﬁm
3. Pitch / U@

4. Clearance/ 3Tf @Fﬂm

Correct Answer :-

« Module / UfREUSH (ATSYe)

20) If a beam is loaded with uniformly distributed load, then what is the shape of curve drawn in the

bending moment diagram? /ﬂﬁ@ﬁ'ﬁ, U U A faafka yR & 91y ﬂ-rrﬁ?r%mﬁn?n%, G|
S+ 3yl 3R (JFET gHe ST # Wi 7T 9 BT PR |1 8?2

1. Cubic curve /Y- d¢h
2. Straight line / ESRG LG
3. Parabolic curve / RIARNP b

4. Exponential curve / TRYTAD! deh

Correct Answer :-

« Parabolic curve / TRATRID dh

21) If a column fails only due to crushing then the column is ./ Tlﬁ@ﬁ‘”a’ﬁﬁ
oo & PRI fImd gl Sirar g of Ty gl

1. not determined / fyiia
2. short column / <Y Y
3. medium column / H&H IdH

4. long column / & wH

Correct Answer :-

« short column / TY TH



22) In liquid level systems the unit of capacitance of a tank are . / &9 &R WUITel § U Sl

Ft i F zors gl

23) What is the SI unit of magnetic flux? / TP ffHATE BI SI FHTS FTR?
1. Weber / JR
2. Tesla / T

3. Lumen / F\’Iﬁq
4. Henry / %_"Rﬁ

Correct Answer :-

e Weber / IR

24) What is the method of making a mould among these? / T fHtur &t fafy fFrafafea 4 9
CaE RNy

1. Pit moulding / TIT‘TQ:EFT (lfl’c' ﬁ%”l)
2. Dry sand moulding / Y[&h ST e (?;Il’sf@‘s’ i)
3. Loam moulding /E\E:IE'W (?hﬂ nﬂ%ﬂ)

4. Skin dried moulding / Y5 @dT ¥d (D SlgS HICET)

Correct Answer :-

 Pit moulding / Td I (ﬁf In%"f)

25) Brake binding can occur when ./ S dYT a9 Eﬁ Hhdl % Safe |
1. the brakes are not used excessively only / 4 5 &1 SaTeT U el fobar GI'IT‘IT%

2. All of the above / SURTGT THT

3. parking brake is unreleased only / b mifdsT o U gl

4. poor contact is achieved between brake lining and the drum / NP IR 3R SH oI ERGR S RSE |
e



Correct Answer :-

 parking brake is unreleased only / b wfd o U gl

26) Squeezing machine is used for AT G R RG] o & forw Ugad g gl
1. cutting / Had @%"D

2. drilling / qde (F;d?—m)

3. reaming / IEECER] (f\"&l"'l)

4. moulding / g (ﬁ%ﬂn

Correct Answer :-

« moulding / 99 (In%'rl)

27) A hall’s effect pick-up can be used for measuring ./ WBTF[WWH’IH IECZEL

P AU & fo7U SURT frar ST aepanr gl

1. magnetic flux / ﬂqqﬂq \Hﬁ-ldl'c‘:

2. pressure / GId

3. current / YRRT
4, relative humidity / MU Smsea

Correct Answer :-

e current / YR]

v

28) For a solid shaft subjected to torque T, the shear stress developed is proportional to

Fargul T & 3efiF Tw S Wi & i iR seuuiafdea . & smquifas g1
1. radius R / S R

2. angle of twist / G¥d BITT

3. length of shaft / YTE I GaTs

4. modulus of rigidity / €¢dl HTU®

Correct Answer :-

e radiusR/ I R

29) For a given sleeve lift in governor, the sensitivity ) SfUfass (TléqT) ﬁ%ETI'Q
g3 (Raafowe) s fog, gamfear

1. decreases as speed decreases / W%Wﬁﬂﬁ%l



2. increases as speed decreases / aa‘cﬁ% SIe TTfd gedl %I
3. increases as speed increases / aa‘cﬁ % ECRIIG Ela?ﬁ % |
4. remains unaffected / 3gyTfad ?6(‘" %I

Correct Answer :-

« increases as speed decreases / aa‘cﬁ % SERISAKG] % I

30) For measuring __, only the circularity of contour is determined. / & q1u

¥ o, Faa sl A afpar Frufa S et 1
1. flatness / HHJ T

2. roundness / TS

3. straight / 18

4. square / a1

Correct Answer :-

e roundness / ‘i|€|lé

31) Types of brakes used for controlling speed of vehicle for downhill travel is tl?'l?ﬁ |

STAP T AU AT R TR P FRa I TeR SIS TR e
1. Mechanical / T

2. Axial / 31&fig

3. Hydraulic / Sadierd

4. Radial / Xf&T

Correct Answer :-

« Hydraulic / GddTferd

32) Take out the function which is not a requirement of clutch. / 39 mmmﬁﬁ, CIESEE
U ATIRgHdT A8l gl

1. Gradual engagement / PHHS JHTITT
2. Maximum Inertia / 39 aH SIS
3. Smallest possible size / WH‘J-IH SThR

4. Good heat dissipation / 3TH 3 SHT [d¥RUT

Correct Answer :-

« Maximum Inertia / 3fehad Sigd



33) A put fit is fit. / T RUa Sugaaar (e five) Iugadn (fhe) g1
1. an interference / AfIDHRI (EETEQT\‘:D

2. a differential / fANG®H (ﬁs"m

3. an allowance / 31'1H\IQ'1 (Qﬂld@lﬂ)

4. a transition / G AT (CITOTR)

Correct Answer :-

« a transition / G HUT (COTR)

34) Thermocouples are generally used for accurate temperature measurement upto °C./

IR AU AT F R yafered AR ccae Uge g 8l
1. 1800
2. 1700
3. 1400

4. 1300

Correct Answer :-

35) In case of critical damping the damping factor ratio is . | Pifa® Sraved ot fRAfT |,
G HRS JUTd gl

1. equal to one /w%w
2. equal to zero / [ & TR
3. less than one / Udh A HH

4. greater than one / Udh T 3HfYH

Correct Answer :-

« equal to one / T & SRTE

36) The portion of body which is reduced in diameter below the cutting edge pilot is known as

/e e ite, ieda P RIIae F R o s saaae,
FEAI G|
1. Shank/%
2. Recess/ﬁ’@g

3. Boring /SR



4. Pilot / YTdcic

Correct Answer :-

e Recess/ g

37) The melting furnace used for ferrous metal is known as ./ ?ﬁg m%ﬁqu‘gaa
T Wl & = A ST ST 811

1. hot stamping furnace / 3T &I '-'-I?[
2. electrolytic furnace / %_{{CIT‘[ 3qgcHt 1-@:f

3. cupola furnace / ?ﬂ}:ﬁf’ﬂ “'@)f

4. heat treatment furnace / HBHI SUTR ‘l-@of

Correct Answer :-

« cupola furnace / ?ﬂ]:h?ﬂ 1-@)[

38) The instrument used for comparing the dimensions of a component with a standard length is

called . / 9§ SUSBYI, T} T3 & HHS & 1Y Th 9P & ATATHI BT ga-1 & g
TG T 8 FEAr R

1. Scale / HTG=T (@WD
2. Vernier calliper / IR Bl

3. Comparator / el (FTRER)
4. Micrometer / ﬁ&ﬂmﬁ (ﬂ'l_icaﬁjﬂm

Correct Answer :-

» Comparator / ‘g’(‘*ﬁﬁ (FHR)

39) The load per instantaneous cross sectional area is called ./ HR ufd Wﬁﬁ?
JPIPEAT__ HgdaErgl

1. true stress / AREAA® Uldad

2. shear stress / S{U=YU[ ufded
3. normal stress / HTHII ufded

4. nominal stress / THHA IS

Correct Answer :-

e true stress /W IGELS]



The defect in casting due to in-corrective assembly of moulds and cores is ./ T 3R

BIS P Ted GAIo & HROTETT A FLAGI]
1. blow holes /Wﬁﬁ'
2. fins /fﬁb_-\\:[

3. swell / Tl
4. drop / 9&

Correct Answer :-

. ﬁns/ﬁTf\q

41) The departure from the straight line relationship is /@ﬁ%ﬁi‘@ oy A fage
gl

1. linearity / m
2. stiction / Feea=™

3. drift / Ugfal
4. non linearity / TR YERIdT

Correct Answer :-

 non linearity / TR YERIdn

42) The type of mechanism used for slotting machine is known as ./ AT AR &

Uy eH A aiNTaHIUPR__ FHgaErg!
1. Gnome engine / 1H 3o

2. Bull engine / & g9

3. Beam engine / ST SoH

4. Crank and Slotted lever / v 3R @GR D

Correct Answer :-

« Crank and Slotted lever / 6 3R THER IdlAd

43) The resistance force acting on a body causing increase in length of body is known as

%Wmﬁmﬁq@,mwmmﬁﬁw%wﬁ?ﬁﬁlw EZIG] .
|

1. tensile stress / d-- ufded
2. compressive stress / e ufded
3. bearing stress / fegemur ufdea



4, volumetric stress / M-I Ufaad

Correct Answer :-

« tensile stress / d-- ufded

44) The process of removing lubricants and binders from metal powder added during blending is

called ./ aftrgor @&ATEM) & SR SIS T g uf & Aewd! ok duH! (wgfadred
aﬁ?aﬁsﬁ)aﬁﬁmﬁﬁuﬁm __ ogdant gl

1. Fusing /H'@ﬂ (ERI%PT)

2. Compacting / g (ﬁﬁﬁﬂ)

3. Sintering / Rfexur (Riefa)

4, Presintering / qﬁﬁlETUT CURSERY)

Correct Answer :-

 Presintering / Ujﬁlm m

45) The amount of heat transfer to convert unit mass of solid to vapour is called i

Ty & forE 319 & SHTS SuH H ufvafdd 1 & e RTHiaida ST &t AT &t
PS8

1. latent heat of sublimation / SeauTd Bt It SHBHT

2. latent heat of fusion / SR Dt I ST
3. latent heat of freezing / IR CRUE ] RSeS|
4. latent heat of vaporisation / CINERUED] Tt SHTHT

Correct Answer :-

« latent heat of sublimation / S &UTd &1 It SHTHT

46) The radian is the plane angle between two radii of a circle that cut off on the circle an arc equal

in length to the radius is known as /W W?ﬁr%a‘rﬁw%‘qﬁawﬁuaﬁw%ﬁﬁ
RO SRR P AL A AIPRAL IR Searard|

1. kelvin /W
2. mole /Ihﬁ

3. joule / 9[d1
4. radian /i'%'q:f

Correct Answer :-

e radian /Q ST



47) The angle between cleared flank of the tooth back of relived surface and cutter face is called

./ U g 3R Bl Bad & ¢ 95 &b W T P S BT HI0f
Fgaargl
1. Peripheral relief angle / TRET S=aTad ®Ivr
2. Peripheral clearance angle / TR efT 3ra=ff sior
3. Face clearance angle / Tad 3T 10T

4. Face relief angle / thcldh 3=dd HI0T

Correct Answer :-

 Face clearance angle / ¢l 3rgeff By

48) The body which is capable of transmitting forces with negligible deformation is known as

./ 9% 1T W) {6 TT0g fasur & 1Y 9l BT TR0 HIA DI &HdT WAl g,
FEAI G|

1. resistant body / TRy e
2. flexible body / & BT
3. reductant body / 3UdIPH IBCaL)

4. rigid body / €6 A

Correct Answer :-

* resistant body / UfoRIy® o™

49) The maximum probability has a large value for small values of ./ %@%W

¥ fore siftrraw yrafear ST g ST 81
1. high Precision / 3o URGdl

2. high accuracy / I gurdan

3. precision index / L{i\ﬁ-‘{ic&dl N CEdED

4, low accuracy / G| gyrfar

Correct Answer :-

 precision index / L{i\ﬁ-‘{lc&dl N CEdED

50) The degree of freedom of a simple pendulum is ./ TP WA KIS IR=LECIKA
fSh_ =
1.6

2.4



3.2

4.1

Correct Answer :-

51) The rule for gear ratio of differential indexing is given by ./ 3dpd g & R
JuEasRmffmm_ grifemwmar?l

1. (N-A)*60/N

2. (N-A)*40/NA

3. (A-N)?*40/N

4. (A-N)*40/A
Correct Answer :-
e (A-N)*40/A

52) The device not used for measuring pressure is ./d% 'ﬂ'% St g1 7T & fag Ugdd
TEHEME, gl

1. Piezoelectric crystal / QIdl ﬁgﬁlﬂmﬂ:{
2. Pyrometer/ IAgHTT
3. LVDT /Uddisic!

4. Strain gauge /?‘I:ITHﬁ\—_IT

Correct Answer :-

e Pyrometer/ Il

53) The kutzbach criterion for mobility of mechanism having plain motion is given by ./

WA T ara "o A nfashad ¥ e soee Ards _ dgRifRaremarsr
1. N=3(-1)-2j-h

2. N=3(1-1)-3j-h

3. N=2(I-1)-2j-h

4. N=2(1-1)-3j-h

Correct Answer :-

e N=3(l-1)-2j-h



54) The thermoelectric effect was first observed by ./di ﬁg’crcr YUTT, HAUYH
g1 féra fvar mar am

1. Seebeck / RICEg
2. Pirani /fﬁ?'l_*ﬁ
3. Thermas / yATg

4. Thomas young / YT G

Correct Answer :-

e Seebeck / dedp

55) The beam is loaded with same load rate per unit length. Identify the distribution? / Eﬂw, ufe

TPTS GATS U JHTH YR & 1Y HTRE B | faarur &t ug=m= &2
1. Point load / fdig 4R

2. UVL / gdigd

3. UDL / g8Iud

4, End load / RRT 4R

Correct Answer :-

« UDL/ZSIud

56) Slip gauges were invented by . YT A &7 SHfash R & grT fvar
YT

1. C E Johansson / 3. _sc th
2. Alexander / AT S

3. CVRaman/ﬁ. at. =

4. Symons / HISHY

Correct Answer :-

« CE Johansson /&I, _5‘:' \_rﬁgﬂﬂ:f

57) Anti-skid subsystems are applied to . / Torae et Suyomeht (Q?ﬁ &rs m
____ ®IygE gl

1. hand brakes / 8T &

2. front brakes / 31 G

3. parking brakes / qTih T i
4. rear brakes / UY S&H



Correct Answer :-

e front brakes / Y b

58) In a refrigeration cycle, if vapour is not super heated after compression then it is called

./ it e ®, A arwg Tdie &y erafie W g e Y a
FHEAdIg |
1. sub cooling / 3U Xt
2. dry compression / &b U&=
3. vapour compression / AT TGS
4. wet compression / 3T& GUTS

Correct Answer :-

» wet compression / \3‘|'|_§(C Tdisq

59) In a four degree freedom system the number of eigen values is ./ IR f&h T@aa

wore F, sifragfre o st s 1
1.0
2.3
3.4

4.2

Correct Answer :-

60) Commonly used method of manufacturing metal powder is by ./ ﬂﬁwmaﬂ
I 0§ ugad fafd ERIEI 81

1. Atomisation / QEIIIQQQI:I
2. Jolting / SifecT]

3. Shotting / W

4. Reduction / Udd-d

Correct Answer :-

e Atomisation / QEHIQ@IQH

61) If heat engine receives Q; kJ/min of heat and does W kJ/s of work then thermal efficiency of
engine is given by ./ afe ST §T Q, kJ/min Pt SHCHT YT HRaT 8 3R W kJ/s BT



BT BT g a9 goi4 P ardig garar GRISI ST 81
1. T]ZEXIOO

2
2. =100

a0

3.m1= 9 x100
W
4, n="°0x100

Correct Answer :-

sow
e 1= % x100

62) Viscosity is considered as property in model analysis. / uferev fazawor ff', RUIE G
0T & =0 § A STt 3

1. geometric / SIIEIRED

2. dimensionless / ﬁtﬂ_@:{
3. dynamic / IR

4. kinematic / ! ||a$

Correct Answer :-

e dynamic / ISR

63) The degree of agreement within a group measurement is called . /WW% 3iaitd
Teufd ot fsh &t IS |

1. drift / U<l (F$¥e)

2. accuracy / YT

3. precision / CI&S{!@(‘H

4. degrees measurement / VIR

Correct Answer :-

e precision / CI&%!@(‘H
64) Which statement about notch and weir is true? / T 3R 1Y P faug & o9 1 YT T %?
1. Weir for high velocity and notch for low flow. / SIY 3 INFH ﬁm AR TG g Udle & %I'Q @Fﬂ %I

2. Weir for small discharge and notch for large discharge. /Wﬂ@ﬁ%@gﬂ%%ﬂ ﬁWE@W%W
L]



3. Weir for small velocity and notch for high veIocity/GTﬂ@ﬁ%é"T%ﬁ‘m @TWW@T%W@W%I

4. Weir for large discharge and notch for small discharge. /ﬁﬂ@gﬂ%ﬁ%ﬁ‘ﬂ ﬁ?@ﬁ@%@%ﬁ%ﬁ“ﬂ
TRl

Correct Answer :-

» Weir for large discharge and notch for small discharge. /Wﬂﬁ%@%ﬁ%ﬁ’m ﬁW@%W%W
g g

65) The difference between the true value and measured value of a quantity is called WEIE

FUH AR AN AR S TSR Hgamargl
1. change over / TRafdd &1

2. correction / YR

3. static correction / Rfd® JUR

4. dynamic correction / HIGED JUR

Correct Answer :-

e static correction / @mﬁ‘iﬂ?

66) The process of adding sufficient moisture to the moulding sand is known as . /Ww

T afisen dtufrmrs | FEuATETISEIg]
1. sand conditioning / SIS AT (HS BT

2. sand moisturizing / STE 9 BT (S ATALRTZRIM)

3. sand tempering / STS U1 (IS TR

4. sand mixing / ST fieyor (&S fhrfadm)

Correct Answer :-

« sand tempering / SIT] YT (ﬁ?’i’ é’ﬁilﬁ"'f)

67) Submarines works on which of the following principle? / q‘l@'@"ﬂ Frafafeaad A fea ﬁ’l@'ﬁ
TR I Bl 82

1. Bernoulli’s law / Il &1 4|

2. Pascal’s law / U dl ol 99

3. Darcy’s law / ST &1 fAoy

4. Archimedes law / 3TfhTHSI &1 FAaH

Correct Answer :-

o Archimedes law / Wﬁ?&l@ﬁ CARGRE



68) Bernouli’s equation is considered as . /Eﬁ?ﬁﬂ)‘[ s & U H AT
EIGIE|

1. continuity equation /ﬁ'R_CR_ClTFJﬂWUT
2. momentum equation /WW
3. energy equation /G)‘_\rﬁ“v'l"v:ﬂWUT

4. force equation /aawﬂw

Correct Answer :-

e energy equation / %Vl BT

69) The result of quantitative comparison between a predetermined standard and an unknown
magnitude is called ./ GafYTiea A 3R rgma aRHTUr & e AT genn a1
gfums Fgararg|

1. magnitude / gfgror
2. standards / HIP
3. metrology / s ol

4, measurement / HIU

Correct Answer :-
e measurement / AU

70) Structure constructed across the dam in order to avoid damage or overflow is called

gyt aftvee A ae & R, gy A i Affasivan | sgardt 2
1. reservoirs / STCTRRI

2. gate / g

3. spillways / 3iferera Anf

4. surge tanks / FGITH ¢l

Correct Answer :-

 spillways / 3ifdreera Anf

71) If the velocity of flow does not change with respect to space co-ordinates, then the flow is termed
as ./ afe wnfae fd=niet & Te o warg &1 A ufkafda 7t giar 8, <t vare
& = H yikyifia gar 81

1. rotational ﬂow/‘a;Uﬁm



2. compressible flow / Idisg Udle
3. uniform flow / THhIHIT Udig
4. steady flow / ST TaTg

Correct Answer :-

e uniform flow / UhJHIT Udlg

72) CANCELLED

A simple supported beam as shown in the figure is subjected to UDL of W=30kN/m? calculate failure
stress where L=8m? / Ush T TATHT 1A, AT RT# 2 &, =30 kNm? & UDL & 31efi

& | Tahel d=Td &l TG &Y, S5 L=8m &7

SRYETYITRITRITIY

1. 100 kN/m?

2. 10 kN/m?

3. 200 kN/m?

4. 20 kN/m?
Correct Answer :-

e 10 kN/m?

73) Pressure cap on the radiator in the cooling system. / fafevred weE

<, Sfaes Fea o FRargl
1. decrease air pressure / 9T GI§ H HH!

2. none of the above / SIRIGd H T PIg ol

3. increase air pressure / A1 16 H i

4. maintain constant pressure / fRR /g §9 T

Correct Answer :-

« increase air pressure / A1 GId | Q'@



74) Parallel lines are drawn using command. /Wm HHIS BT
SUGRT PP IR B STl 3 |

1. Trim
2. Extrude
3. Offset

4, Extend

Correct Answer :-

o Offset

75) The transmission that uses Dual Clutch technology is called as ./ d HERUT S

g Fod W) &1 HaRu Hd &, G ICES|
1. Dual clutch gearbox/ AR NERURREE]

2. Manual transmission (MT) / RSEINCEEIRY (Q'J:I_Cﬁ)

3. Automatic transmission (AT) / RSB INGESEIRY (Q_CFT)

4. Automated manual transmission (AMT) / grferd S%dtlllr(\ﬁd IR (QQIIé )

Correct Answer :-

o Automated manual transmission (AMT) / GBI S%ddli-ad IR (QQII'C‘ )

76) The highest standard of either a base unit or derived unit is called a standard

/ TP YA ST 9T GUA SPIE FISHATHANS __ pgardi gl
1. secondary / fgdia®

2. primary / OT4fH®H

3. working / PRI

4. measuring / HIUA

Correct Answer :-

. primary/tﬂm

77) The hand brakes in automobiles are built by ./ TqETferd argd H el EEY
§RT §91Y W1d &

1. disc brake / fS%® g6

2. both external contracting type brake and internal expanding type brake / gl qlgl {-ig’)d"l TR S 3R

3dR® IR UHR 5




3. internal expanding type brake only / dddl AR AR YR 9

4. external contracting type brake only / P dcd] dlgl 3 EERRIEDR ECg

Correct Answer :-

« external contracting type brake only / dd dlg] g EERREDR ECg

78) The purpose of beam engine is to convert A it ESE D 3%52'8[

uftafda s giar g
1. rotary motion into oscillatory motion / @ﬁ‘Tﬁf CARARERIIGE:]
2. rotary motion to reciprocating motion / qﬂﬁ"ﬁ DI TINTHAT 7T |
3. reciprocating to rotary motion / TANTHAT Bl ‘Q:Uﬁ'rlﬁf o
4. reciprocating to oscillatory motion / YARTHAT I gl Tid J

Correct Answer :-

 rotary motion to reciprocating motion / ‘a;Uﬂ:‘Tﬁf DI TARTHAT T |

79) The size of air cored transducers in comparison to their iron cored counter parts is

./;@ﬁ%agmmam,m%aﬁ%awuﬁaﬁmﬁ
|

1. same / JHIH
2. bigger / dST

3. unpredictable / S‘W’q
4. smaller / BleT

Correct Answer :-
 bigger / d8I

80) The operation of finishing and sizing a drilled hole is called ./ G yafir fog &1

TS0 3R GNP ST pgarar 2l
1. Forging / G (WIfSHT)

2. Reaming / fesgasd (RfHm)

3. Boring / 98 (1)

4. Forming / 3T T (I

Correct Answer :-

e Reaming / fgadq (ﬂ‘&l"'l)



81) The longitudinal distance between the centre lines of front and rear axle is referred as

SR U A Ft e s T sgedghier . Afafidy e
AT gl
1. Caster length / PR AT
2. Camber distance / Iehdl g1
3. Wheel base / Toh 3R

4. Wheel track / dsh UY

Correct Answer :-

e Wheel base / deh TR

82) TCS is an acronym of . /tﬂ@ﬂw, &1 S 9 %I
1. Torque converter system / TP Hack ey
2. Traction control system / EEIQ'FT W Rreey

3. Traction cruise control / Ed*&l"l ol O'hg\lﬂ

4. Tractor control system / EEET ﬁjr g

Correct Answer :-

 Traction control system / EER"I:[ W@a Rrem

83) CAD/CAM is the relationship between ./ CAD/CAM, & o
HEY B

1. Development and Maintenance / I SR Teyror
2. Manufacturing and Marketing / faffaror oiR fauom
3. Design and Marketing / 30T 3R fagur=

4. Design and Manufacturing / 3UTh 3R fafafor

Correct Answer :-

« Design and Manufacturing / 9T+ 3R fafmfor

84) CAN in Wiring harness of an automobile refer to ./ Th TgATeId aTgq &

TRIFIWREIACAN, Pl Hehid sears|

1. Controller Area Network / Obg\lc'R U T Acad

2. Computed Alert Network / Ob“id\és 3 Acad



n\ C

3. Computerized Articulated Network/ hHCRILUIS 3] c‘Tq%a ¢S dcdd

4. Computerized Area Network / P HYCRISVIS QI?EII '?ICOIOB

Correct Answer :-

e Controller Area Network / O.DQ\IQ'N U | :ICdG(I;

85) Diesel can be injected upto a pressure of bar in CRDI engine. / ?ﬂam??ran—s‘
SO H, IR & 319 a% Stod sidafud far s awar g1

1. 10
2. 1000
3. 200

4. 3000

Correct Answer :-

« 3000

86) DPF is the acronym of ./ \ &1 Aféra A %I
1. Direct Purification Filter / SR U{F\"Wﬁw
2. Differential Proportional function / fEhiRme yaefa taem

3. Diesel Particulate Filter / S9d Gfcagae ftheex
4. Diesel Purification Facility / SN mw

Correct Answer :-

« Diesel Particulate Filter / SIoldl UfcHJeIe fheex

87) Engine cooling becomes easy when it is placed at the ./ 3o e s E’f
SITaT 8 oI 39 A G AT

1. front / Y
2. left corner in the rear / UY H |1y CAE]
3. rear / UY

4, centre / HYY

Correct Answer :-

e front /YU



88) Measurement provides us with means of describing a natural phenomena in

termsé Ty & A0 TP Wipfae wighy o) aftfd s & Rie sd weA e
AT

1. digital / 3@
2. transducer / SRISIIR
3. system / UTTlT

4. quantitative / HIATHD

Correct Answer :-

e quantitative / HIATHD

89) If velocity of a particle is 4m/s and force due to gravity is SN, find the kinetic energy of
the particle (take g=10m/s?) ? / gfe TP BT BT AT dm/s % 3R TR™d & HRUT T 5N %, Gl
U B TfaT SHolt JTd DY (g=10m/s? TA)?

1. 2]
2.10J
3. 8]

4. 4

Correct Answer :-

90) If gear B moves around gear A about a fixed arm then the motion is called ./

IR RS, R Ty IR R s AT TR IR e e drsasr
ST AT 3|

1. Rotatory motion / quﬁ Tfd

2. Epicyclic motion / R IREEIRKIIR]

3. Simple pendulum motion / IX¢T NISERIIG]
4. Parabolic motion / RIS Tfd

Correct Answer :-

« Epicyclic motion / N IBEEARI

91) If area of actual indicator diagram is 20cm? and base width of indicator diagram is 10cm

and spring value is 5N/m?%/cm then mean effective pressure will be J 'CI'%



TRANAD GID RGBT &G, 20 cm? 3 3R FIP 3RW B ATUR ASTS 10em & 3
UM A 5N/m¥em @ a1 A YHTA g1 ghmI

1. 30 N/m?
2. 20 N/m?
3. 10 N/m?

4. 50 N/m?

Correct Answer :-

e 10 N/m?

92) A cylindrical workpiece of diameter 20mm and rotating at 300 rpm will have a cutting

speed of ./300rpqu0ﬁaﬁ?20mmmm%?wéwmaﬁaﬁh
i @fénaits) @i

1. 6t m/min
2. 47 m/min
3. 87 m/min

4, 10t m/min

Correct Answer :-

e 6 m/min

93) Find the loss of head per unit length of pipe with diameter 100mm and velocity 100m/s;

and Chezy’s constant, C=50. / Ioit & fRRT® C= 50 3R 100 HeIAHUS & A 3% 100
fireifier & o &t afere ot ufa s TS 2id & g1 I1d HY

1. 16
2.10
3.0-16

4. 160

Correct Answer :-

e 160
94) For aload of 3000N if the stress is 100N/m?2 the diameter of rod will be ./3000
N & HR & forg, afe ufaad 100N/m? & 9 B8 &1 o =i

Vi)

1. 120°m



r.120
V(=)

2. T 'm
3. 120m
1z

4. ™m

Correct Answer :-

)

rA20
V(

. m

95) CANCELLED

If young modulus=3x105N/mm2p0ission’s ratio =1/4then bulk modulus is ./ afg
T AP =3x105N/mm? & UTST U =1/4 § oY Tob HIUIH 2

1. 0.1 N/mm?

2. 100 kN/mm?

3. 4/3 kN/mm?
4. 3/4 kKN/mm?

Correct Answer :-

e 100 kN/mm2

96) CANCELLED

If barometer reads 70mm of Hg then what is the value of pressure in SI units . /?T%

IRIGITHTY! P UTSIAT Hg BT 70mm €, AT SIFTHPIRASE HIAN B
1. 9.3 N/m?

2.101.3 N/m?

3. 100 N/m?

4. 760 N/m?

Correct Answer :-

97) CANCELLED

is the duration of the crank angle after exhaust stroke in which both inlet valve and

exhaust valve are open. /WW%W, R %Wﬂﬁﬂg Gﬁﬁ[%ﬁﬂ'ﬁmm
IR Ao A el gad g



1. Negative overlap angle / BUITHD SifcraaTfud wior
2. Positive overlap angle / YITHD Sffaefid o
3. Flank angle / 13|T%4$ HI0T

4. None of the above / SWRIGIH Y m :@3[

Correct Answer :-

« Positive overlap angle / 4T&E® fqaTUd ®Iur

98) CANCELLED

A strain should havelow . /Udh ddld ﬁ:, IGL] 3-17'“ ﬂTI%'EI
1. gauge factor only / &Had 75 HRD

2. resistance temperature co-efficient only / Had UieRIY dIHH LIIGE

3. resistance only/ dad UfeRIY

4. all the above / SURIG TH

Correct Answer :-
« resistance temperature co-efficient only / Pad UfaRIY daa™= {IUTW

99) CANCELLED

International system of units (SI) was established in the year ./ mg'q}f 4| Glﬂ?f@'q YTl
(ST) ¥ & =it 3t g ot

1. 1978
2. 1980
3. 1975

4. 1983

Correct Answer :-

« 1980

100) CANCELLED

What is the temperature of mild steel in forging? / R K Hg HUTd DT dTUHTT HT Eﬁ?ﬂ %?
1. 980°C

2. 1300°C

3. 1250°C

4. 1150°C



Correct Answer :-

e 1300°C



